Y o 7/ 7

Racing Screerrs

PREVENTION

*Use water and neutral soap to clean the windshield.
*Check the tightening of the fasteners peridiocally.
*Park the scooter facing the sun, avoiding the sun-
reflection effect that may damage some parts.

*Park if possible on even surfaces.

Thanks for your attention.

o oescrimon o

a__
510 mm

480 mm

radius
o

ROUNDED CONTOUR-PROFILE

1 Clear windshield 1
2 Metal support 20x5x64x70° 2
3 5,5x12 screw to tight into plastic 2
4 Plastic washer 4
5 5,5x14 screw to tight into plastic 2
6 Support with drill through 2
7 Screw with drill through 2
8 Special washer 2
9 @10x170 bar 2
10 M8x25 screw DIN 933 2
1" M8 washer DIN 125/A 2
12 | M8 nut cover DIN 6923 4
13 Bellow drill cover 2
14 | Plastic support 2
15 Arrowhead @14x@8,5x6 2
16 M8 nut cover 6
17 Screw cap 4

Pg. 1/2

WINDSHIELD ADAPTABLE TO MOd . TS

Ref.: 6257W

SYM SYMPHONY S 50/SR 50 - S125/




o —

Pg. 2/2
Looking for dependable motorcycle windshields & fairings? Rely on Puig for quality and long-lasting products.



https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/puig/

